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According to livestock census 2019, what is the rank of Maharashtra in terms of

the country ?

livestock among

(4) Nineth

(1)  First (2) Third (3) Seventh
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16th World Youth Archery Championship was held in August 2021 in which of the foll

owing

nation ?

(1)  South Koria (2) Poland
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Identify the person from the following discription :

(3) India (4) Australia

In 2013 she acted in the film ‘mai’ for the first time.

(a)
(b)  The first Indian singer to be nominated for a Grammy Award.
(c) She was recently awarded the Maharashtra Bhushan Award 2021

Answer Options :
(2)  Asha Bhosale

-

(1) Lata Mangeshkar
(3)  Krishna Kalle (4)  Shanta Apte
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NROL-85, which was launched recently, is an intelligence satellite of which country ¢
(1) Russia (2) Israel (3) France (4) USA
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Who has been awarded the ‘International Gandhi Award for Leprosy-2021" ?
(1)  Dr. Bhushan Kumar (2) Dr. G.P. Talwar
(3) Dr. M.D. Gupte (4) Dr. Atul Shah
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Which country launched the ‘COMPETES ACT of 2022 ?
(1) Russia (2) USA 3) UK (4) Australia
7. R  SATFeax 2021 ALY R AR . Iarsd Gl Welieid! SO SEEiars
A ISP

(1) IR TA. Wi i dem Ared Fi
U YHRUTHTS! el |l

(3) SNYR Hrs gRUl A=

(4) INDT THE ATE

The Supreme Court has appointed Justice R.V. Ravindran Committee in October 2021 for whic
of the following purpose ?

(1) IPL spot fixing scam enquiry

(2)  Pegasus snooping row enquiry
(3) Aadhar Card Policy confirmation
(4) None of the above
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Vhich Union Ministry launched "My CGHS" Mobile application ?

(1) Ministry of Education (2)  Ministry of Health

(3)  Ministry of Tourism (4)  Ministry of Culture
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Which one of the following country has provided instrumental support to India’s ambitious space
mission ‘Gaganyan’ ?

(1) Japan (2) South Koria

(3) United Arab Emirates (UAE) (4) France
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Indias First RT-PCR kit to detect the Omicron Variant, named ‘Omisure” is developed by which

company ?

(1) Tata MD (2) Piramal (3) Sun Pharma (4) Apex Pharma
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Which institution has developed the ‘Positive Pay System (PPS)" for Cheque Payment ?
(1) National Payments Corporation of India

(2)  Reserve Bank of India

(3) Niti Aayog

(4)  Ministry of Finance
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Which of tRf following statement is incorrect in respect of the Consumer Protection Act 2019 °

(a) This act came into force on 20t July 2020.
(b)  Unfair trade prohibition rules on e-commerce platforms are included in this act.

(c)  As per the rules of the consumer Disputes Redressal Commission no charges will be levied
for complaints upto ¥ 10 lakhs.

Answer Options :
(1) Statements (a) and (c) (2) Statement (a)

(3) Statements (b) and (c) (4) Statement (c)

(1) 20 /(23/ SR (@) T @) W
‘Sustainable international financing scheme’ is associated with which global association ?
(1) G20 (2) ASEAN (3) BRICS (4) SAARC
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Which space agency has released the first visible light images of the surface of venus from space ?
(1) ESA (2) JAXA (3) NASA 4) CNA
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Who has been appointed as the chairman of the National Fir}an(‘ia] Reporting Authority (NFRA) ?
(1) Ajay Bhushan Pandey (2)  Nandan Nilekani ' .
(3)  Azim Premyji (4)  Kris Gopalakrishnan
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Who among the following was the members of the drafting committee of the Indian
Constitution ?

(1) Vallabhbhai Patel (2) Jawaharlal Nehru
(3) Alladi Krishnaswamy Iyer (4) Dr. Rajendra Prasad
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New responsibilities given to Gram Panchayats as per 731d Constitution Amendment Act, 1993.
(a) Enforcement of Land Reforms Act

(b)  To develop forest industries, small and cottage industries

(c) Facilitate technical and vocational education

(d) To arrange entertainment for the people of the village.

Which of the above statement/statements is/are incorrect ?

(1) Only (b) (2)  Only (d)

(3)  Only (a) and (d) (4)  Only (b) and (c)
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Which Article of the Indian Constitution defines the duties of the Chief Minister ?
(1) Article - 163 (2)  Article - 166 (3)  Article - 167 (4)  Article - 164
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Which of the following are the correct statements regarding the tenure of a Governor of
State ?

(a) Governor remains in his office as long as President of India wishes.

(b) Governor may resign voluntarily.
(c) The appointment of Governor is generally for 05 years.

(d) Governor remains in his office until another person takes charge.
Answer options :

(1) Only statements (a), (b) and (c) are correct

(2) Only statements (a), (b) and (d) are correct

(3) Only statements (b), (c) and (d) are correct

(4) All statements are correct
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Which among the following featu ' itution i
o tation ; g res of Indian Constitution is not borrowed from British
(1) Parliamentary form of Government

(2)
3) Rule of Law

(4) Concurrent List
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Elections in India for Parliament and State Legislatures are conducted by
(2) State Election Commission

(4) Election Commission of India

Cabinet form of Government

(1) President
Governor

oI\
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\/(3( B (@)-{b) T (d) () e
tences in the composmon of the Gram Sabha :

Make a group of correct sen
(a) Gram Sabha is formed from all the adult citizens of the village.
(b) Every voter who completes 18 years of age becomes a member of Gram Sabha.

(c) Gram Sabha has election.
(d) All the voters of the Gram Panchayat are members of the Gram Sabha.

Answer Options :
(1) Only (a), (b) and (¢) (2) Only (b), (c) and (d)
(3) Only (a), (b) and (d) (4)  All the above

s
P.T.O.
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Which of the following statement/statements regarding State Public Service Commission is/are
not correct ?

(@) Provisions in Articles 315 to 323 of the Indian Constitution.
(b)  These Commission are working for the State Government as well as the Central Government.

(€)  The appointment of the administrative officers selected by this Commission is done by the
Central Government,

(d) The chairman and the members of the Commission are appointed by the State Government.
Answer Options :
(I)  Only (a) and (b) (2)  Only (a) and (c)

(3) Only (b) and (¢) (4)  Only (b) and (d)
G
B R e T Ee— FEIA(TIH I 3.

<= 31 _
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Which article states that each state shall have an Advocate General ?
(1) Article 194 (2) Article 177 (3)  Article 197 (4)  Article 165

(1) s dean s \ 2 XSRS
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Which of the following Committee is not related to the Panchayati Raj ?
(1) Ashok Mehta Committee (2) Rajmannar Committee
(3)  Thungan Committee
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What was ast India Association organisation, established on 1 November 1866 ?

(a) Female Education
(c) People Education

Which of the statement given above ig /are correct ?
) @ad® @ Gad@ @

(c) only

(b)  Political Education
(d) Religious Education

(4)  (d)only
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Match the pair.

(A)

(a) 1890, Mumbai Mill Workers Union
(b) 1918, Ahmadabad Textile Labour Association
(c) 1918, Madras Labour Union
(d) 1920, All India Trade Union Congress
Answer options :

@ (b) () (d
(1) @) @) @O @)
(2) (v) (i) @) @)
3) (v) (@) @) @)
(4) (@) @) Gv) @)

FA1 FHTATE AN / SPACE FOR ROUGH WORK

(B)

®

(i)
(i)
(iv)

(B)
Lala Lajpatrai
B.P. Wadiya
Mahatma Gandhi
Narayan Meghaji Lokhande
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Who made the following statements which caused the growth of Communalism ?

(d)

Hindu and Muslim are two nations and these are two opposite countries.

The policy of divide and beat has to be ado

from Hindu.

pted in India and Muslims should be kept away

Mahatma Gandhiji’s Civil-Disobedience Movement is not totally for freedom of India but to
keep Indian Muslims under the domination of Hindu Mahasabha.

Those who are recognizing India as their motherland, India is their nation.

Answer options :

(a)

Principal
Bake

Sir Sayyad
Ahamad

V.D. Sawarkar

Mohamad Ali

Jinnah
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(b)

Sir Sayyad
Ahamad

Principal
Bake

Mohamad Ali
Jinnah

Sir Sayyad
Ahmad

()
V.D. Sawarkar

Mohamad Ali
Jinnah

Principal
Bake

V.D. Sawarkar

(d)

Mohamad Ali
Jinnah

V.D. Sawarkar
Sir Sayyad
Ahamad

Principal Bake
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Choose the correct option by matching

() Acharya Bal Shastri (i
Jambhekar

() Durgaram Manchharam, (i)
Dadoba Pandurang

(c) Annie Besant (iif)

(d) Keshavchandra Sen (iv)

Answer options :
@ 6 © @

M G 6 @ @

@ @ 6 ) )

@ @) G G 0

@ G v O 6
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the following :

Establishment of Manav Dharm Sabha at Surat
Purification of Shripad Sheshadri Paralikar was done who
was in the custody of Christi Missionary

Establishment of Normal School and Victoria Institute

Establishment of Central Hindu-College
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Match the pair place of the Congress Session and his Presidents name.
(a)  First Congress Session, Mumbai (1885) (i)  George Yul
(b)  Second Congress Session, Calcutta (1886)  (ii) Badruddin Tayyabji
(c)  Third Congress Session, Madras (1887) (i) Womeshchandra Banarjee
(d) Fourth Congress Session, Allahabad (1888) (iv) Dadabhai Naoroji
Answer options :

@@ (b) () (d
1) (@) @(v) @ (@)
(2) @) (@v) (@ @
@) @) @ @ @)
@) @) @ @) (i)
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Which of the following was the aim of ‘Trading Economy” of British Government ?
(a) No Trading competition (b) Maximum profit

(c) Control on economic factors (d) Economic growth of India

Which of the statement given above is/are correct ?

(1) (a)and (b) 2) (b) and (0) (3) (c) only 4)  (b)only

\//57‘19‘3 T AR AR DGR PO TR T RIS Pl ?

e
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(a) BRA BE (b) Rerd &5 o R @Y -
() WeRal Xed (d) miﬁﬁm)(

DO RCACEICY @ (a)tﬁ 79
\/r/(a), B ) (@) W
Government of India Act of 1935 provided for establishment of which institutes ?
(a) Fedral Court (b) Reserve Bank of India
(c) Fedral Railway (d) High Commissioner
Answer options :
(1) (), (¢) and (d) @ (@) (b) and ()

(3) (a), (b) and (d) (4)  All of the above
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Gopal Ganesh Agarkar was related with which of the following Newspapers ?
(@)  Kesari and Maratha

(b)  Varhad Samachar

() Sudharak

(d) Swarajya

Which of the Statement/s given above js /are correct ?

() (@) and (c) only (2)  (a), (b) and (c) only

(3)  (b) and (d) only 4)  (b), (c) and (d) only
mew .

(a) @%mgﬁmﬁwﬁwmwﬁﬁ >

(b) aﬁmaﬁ%?ﬁwﬁmmwwwﬁm.\/
(c) WWWW@WETWWX

(d) Wqﬁﬁﬁwwmmwgm AT Hay e,

T : ]
\ /z) (a),@srrfﬁr (d) faa™ SRR smq.

(2)  (a) o7fOT (d) Ry SRR amag.

3 (@{() sfer P et sy s
(4) (b)) 3T (d) g™ RER emg.
Which of the following statements are true regarding the development of transport infrastructure
in India ?

(a) The Public Work Department was created during the time of Lord Dalhousie.

(b)  During the reigns of Lord Cornwallis and John Shore road construction gained momentium.
() Broad gauge tracks were built during the early days of the railway.

(d)  Nagpur Council presented “Twenty Years Road Development Programme’ to the Government.
Answer options :

(1) (a), (b) and (d) statements are correct
(2) (a) and (d) statements are correct

3) (a), (b) and (c) statements are correct
(4) (b), (c) and (d) statements are correct
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Match the followmg organizers of the Secret Militant Organizations in Maharashtra and their
areas.
(a) Shridhar Paranjape (i)

(b) Dr. Siddhanath Kane (id)
(c) Dadasaheb Khaparde (i)

Amravati
Belgaum

Wardha and Nagpur
(d) Gangadhar Deshpande (iv)

Answer options :

(@ (b) () (d)
D @) @ @ @)
() @ (@) @Gv) @
() @) @) @O (@
4 @v) @) @) @

Yavatmal

1

\%@T.maﬁm%wﬁwm?

(1) & ggizM (2) wrnf® ﬂam-q'%
&/@7 faeran gfdare (4) Rowh e X
What Dr. Bhau Daji Lad was the proponent of ?
(1)  Female old age home (2) Social discrimination
(3)  Widow remarriage (4)  Christianity
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In 1847 who was the first to demand the launch of a railway co

cotton producing regions ?

Bright (2)
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Prescott

George Layite  (3) Willogby (4)
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Identify the person from following description :
He started the Newspaper ‘India’
Establishment of Bombay Association
Establishment of East India Association
President of Indian National Congress
Answer options :

(a)
(b)
()
(d)

(1)
(3)

Dadabhai Naoroji
Firojshah Mehta

(2)  Gopal Krishna Gokhale
(4) Dinshaw Wachha

ST JSAEIEd Elelelyd! Py ARG ?

qmaﬁamm'@ ' HEY 3fTelell a7,

(b) W A I T FRvATE v SR e
(c) WHU@rEr Yort B fivaraHmn gesen e
(d) @ﬁmmﬁwwmﬁmm.
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(1)
(3)

(b), (d) faem g ameq (2) (@), (b), (c) faam g amq
(b), (), (d) fagm g sma @)  (a), (o) g™ gHN amea

Which of the following statements are false regarding revolt of Santhala ?

(a)
(b)

Economic exploitation of Santhala is presented in Punjab Review.
Santhala declared the decision of establishment of ‘State of Truth’.

() Kanhu the leader of Santhala was treacherously kidnapped.
(d) O Mauli, the officer gave the report of duel of Santhala.
Answer Options :

(1) (b), (d) statements are false (2) (a), (b), (c) statements are false
(3) (b), (c), (d) statements are false (4) (a), (c) statements are false
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which of the following personalities were related with Bombay Presidency Association
Organisation ?

(a) Gopal Ganesh Agarkar (b)  Firojshah Mehta

() Badruddin Tayyabji (d) Justice Telang
Answer options :

(1) (a), (¢) and (d) only (2)  (b), () and (d) only
(3) (a) and (b) only (4) (c) and (d) only

m ATHEET Fad amm@
o) T T S B
(b) IO AFTRLT TERIHS_ TR B v
() O] WA ISR Suefsdl A IR
(d) AT AR JYER SR eﬂj?h.
sttt v e R (REDare?
WW (©) (2) I (b) (3) (o) (4 B ()

The population is decreasing continuously in rural area, because :
(a) The birth rate in rural area is low.

(b) The rural people are migrating to urban area.
(c)

(d) The death rate is high in rural area.

Which statement/s of the above is true ?

(1) (b) and () (2) only (b) ©)

- -

a

The employment is not available in rural area.

(a) and (d) (4) only (d)

F FHTETS AT / SPACE FOR ROUGH WORK




m BYJU'S -
WWW.byjusexamprep.com

Al6 20 — b
A2 HERITRN wamHER @reientd) wyoren widfd T — .
(1) ERTSS aw@ gaR \ 2y wEnd gda amfor Hrge /

3) FR R i;—c,rm (4) gf@g TH S

ine i ence on climate
Which of the following physiographic factor pre'domme,nt]y influ of

Maharashtra ?

; : e
(1) Deccan plateau in Maharashtra (2) Sahyadri mountain and Satpuda rang

(3)  Coastal plains (4) Mudkhed hills

ﬂaﬁmmﬁm?

(a) WW”‘W@%WWW@%
®) e o e st i - @ s o s
TIRY SR - B B - -
(1) (a) 3T (b) Arg frery amaa.
(2)  (a) 3T (b) B fyaEy o

(@) Te™ g anfer (b) g A (SRR) a1,
@) (@) e 2wy (sRvaw) smr (b) R @y s

Following statements are correct or incorrect ?

(a) Commercialisation of agriculture did not promote capitalist - agriculture.
(b) Commercialisation of agriculture intensified tenancy and share-cropping.
Answer options :

(1)  (a) and (b) are true statements

(2)  (a) and (b) are false statements

(3) (a) is false and (b) is true statement

(4) (a) is true and (b) is false statement

waaﬁmﬁmwmmﬁ@msﬂ%ﬂ?

(1) e (2) R () TN N\ Rige
Iron ore reserves in Maharashtra are located in the district of B )
(1)  Wardha (2) Nashik (3) Buldhana (4)  Sindhudurg

AT FEEE RN / SPACE FOR ROUGH WORK
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@W RTSY * '““'*‘@”ﬁ B e
¥y 2017 ((24/2018

" b SR wer?

G . (3) 2019 (4) 2020
When State Government in Maharaghyq has declared the Blue Revolution Mission ?
(1) 2017 (2) 2018 (3) 2019 (4) 2020
’ . A — —— — —
¥’ W@W—Wﬁmw@m? \ \
(1) SAgst (2) viqEerRa
@) NS e
Which is the mountain/hill situated on the North-South direction of western Maharashtra ?
(1) Satpura (2) Shambhu Mahadev
(3) Satmala (4) Sahyadri
ﬁ__ a1 frepren @@mq
(1) @ (2) B () &g \/64(‘ Sl
InIndia ____ is called as a ‘Golden Fiber’ crop.
————
(1) Jute (2) Wool (3) Cotton 4) Silk

48, TR XA IPTS’ B IGIqa¥NT YHed PVl ElaX aqeien S ? ><

(1) e (2) o4 (@) W& (4) @
The multipurpose project of Gujarat ‘Ukai’ is situated on which River ?
(1) Sabarmati (2) Tapti (3) Mahi (4) Narmada
e ' e () O e R o
1) frmuedm v () R TS
\ W s (4) o faee
The average highest temperature in the month of May is recorded in region o
Maharashtra.
(1) Coastal Region (2) Western Maharashtra
(3) Marathwada (4) Eastern Vidarbha
T
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i 3 1 iy T T AL NS ke
\ 30, werTerdic O ARidfiig B e mu‘ﬁ f'i'ff’jr AT, Ty BT G \ KT
ame? -
(1)  samrEE ufygper gRRerd) (2)  wlfaa e Fomer

(3)  aRfe wieasmEr s L/(.4')/ A afirir fsrr

—

arashtra. Which one ig
Following are some of the problems in the agric ulture sector in Mahar Moy

social in nature ?

(1) Adverse weather condition (2)  Limited Agricultural research

(3)  Lack of financial capital (4)  Fragmentation of farmland

S (1) e serer S ! o T o) o e a7

—
—_

1) 9.0% () 8.4% 3) 7.3% \/ua;/mw

What is the percent share of tourlsm in India’s domestic income as of 2019 ?

1) 9.0% (2) 8.4% G) 7.3% 4)  9.34%

2. fiemé <t STfr e SeiT R e <o w2

) o s 2) enfeem (3) BN (4) 7= e
Bhilai Iron and Steel Industry is located in the state of ) '
(I) West Bengal (2) Odisha (3) Chhattisgarh (4) Madhya Pradesh

\//%mgmwllﬁwzlmawmmmﬁme:

——

(1) N P BE FHIY ~a
\%WWWWW

(3) TS erel TG A

(4) aﬁﬁrﬁrﬂmmarma7q

In the decade of 1911 to 1921 the Population Growth in the State of Maharashtra was negative.
The reason behind it is

(1) Low birth rate during that period
(2)  High death due to epidemic

(3)  More deaths dye to flood

(4)  Lack of industrialisation

el FTHTATE AT / SPACE FOR ROUGH WORK
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/ arertid) TP ARATT Wl Ale
o — —M"W Tt
/ J=Ts \P 2) =R TEET da¥ a1,
O “ @1 wiear (4) BTABTC
f the following is an j '
o OChennai (2) mlfm o Port situated on the west coast of India.
g IS s (3) Kandla (4) Kolkata
1) 1986 Q) 1987 & 1985 o dond
Maharashtra State Agricultural Markeﬁng Board is established in ‘
(1) 1986 (2) 1987 3 1988 "
Sl i L — o o
T SN [ 20212271 G 10 AMENE S AT
goeedl I BN T 2017 1 G HROATE T I
(1 32 (2) 42 G 52 @ 6

To tacﬁliftgezg;l;g;%mnfg problem of air pollution, the 2021-22 Budget proposes to provide an
amoun Telor __ urban centres with a million-plus population.

(1 32 (2) 42 @) 52 @) 62
..wﬁ I EEel aese A -am?wr&
T Serell Bl - S —
(1) T’?‘-‘—ﬁ' NP AT D s
(3) . RIS (4) WA deReER

The Govémment appointed a Committee in 1993 on Disinvestment in Public Sector Enterprises
under the Chairmanship of

(1) G.V. Ramkrishna (2) Montek Ahluwalia

(3) C. Rangrajan (4) C.P. Chandrashekhar

ﬁﬂ%mmqﬂ% (CAG) i1 gravil ol TREmIR ane Juard] ARG SR Al SR

HEA YT ST frgarT 3T @l GREV JEaear A fueh $% Idaw.

(1) 30 faaw 2) 60 faaw (3) 90 feaw /m/120 faaw
as a right to order coriduct of supplementary audit and
days from the date of receipt of

Comptroller and Auditor General (CAG) has a righ
he may also comment upon the audit report within
audit report.

(1) 30 days (2) 60 days (3) 90 days (4) 120 days

PT.0
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. 5 \
. PN SR e e aedrd) e fid e deEd ﬁ"mﬁﬁmﬁ%
@) NFIRHS 25 TFP R,

b) IS I RS 335 cap WK,

(€) TuTE SRR S NS 165 TaE WK

(d) ST SR SIS 25 T W

TS PR /S Rem/A drg ang 2

(1) 59 () afr (q) B omi (2) T (b) anfT () A o

©) P @), ) ar (¢ drr am (@) (a), (c) afer (d) 2 sme

Consider the following statements in the context of Sev
of the states share of the central excise duty :

(@ 25 percent weightage for population.

(b) 335 percent weightage for poor in each state.
() 165 percent weighta

(

enth Finance Commission for distriby;

ge for increase in the per capita income of the state.
(d) 25 percent weightage for income equilisation between state.
Which of the statement/s given above is /are correct ?

(1) Only (a) and (d) are correct (2)  Only (b) and (c) are correct
(3)  Only (a), (b) and (c) are correct

(4)  Only (a), (c) and (d) are correct
(2) AR FrEr o~
b) T TR ey |
© T st
(d) T AU “\‘l?gjﬂ @gff AT )(

R TR
(1) %7 (@) aifn a @ % (o) arr (g
AT @ (@), @) s (g @) w9 (o), (0 3t (o

Which of the following were the reasons for small lan
(a) Law of inheritance

(b)  Rapidly growing population

() Rural indebtedness

(d)  Rapidly growing joint family system

Answer Options :

1) only (a) and (d) (2) only (b) and (c)

(3) only (a), (b) and (c) (4) only (b), (c) and (d)

—\A\

d holdings during 1980 to 1985 in Ir
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@ P T Qe \_gay” wetfrm e (4) TN

. difference between fiscal deficj
The di cal deficit ang interest payment during the year is called __

(1) Fiscal defidt () Budget deficit (1) Revenue deficit

(3)  Primary deficit

-~ .
py arded DU I AR €Ror 2000 2y gf%;asa
() S S e @) P
Y AN A M (4) <y oty A FgA A A
Which of the following is not objective of National Population Policy 20007
@) Reduction in infant mortality (2)  Universal immunisation
3) Mid-day meal for poor children (4) Incentive to adopt two child small family

@) @ PEs S
2(id) mg_ﬁrasa‘m

(c) V< ﬁ@ﬁ?ﬁm HRONY SROTRT iii) Wjﬁm
(d) ECIEEGEEIRIEINCIEES + (iv) qed San
Tl ST U

(@ (b) (o) (d)
M @ @O @@ )
@ @ @ @O
(it i) @)
@ (@ Gv) O

Match the following :
(a) Second largest agro pased industry in India (i)  Cotton industry

(b)  One of the oldest and organised industry in India (i) Iron and steel industry
(c) Industry leading to rapid industrialisation (i) Sugar industry

(d) Use of new technology (iv) Automobile industry
Answer options :

(@ (b (© (@

1) @) @) (i) (@)
() Gi) @) @ V)
(B3) (@) @) @) @)
(4) (i) (v) @) ()
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k/)"f 2016 A ¥, Ry wfdy A o waferd o,

(1) IR g amgy
(2) IR YgEE Ao
() W= AT s
\/ i e anfer arefiaedig sracem wr
N-K- Singh Committee of 2016 is related (o

(1) Twelfth Finance Commission

(2)  Twelfth Five Year Plan
(3)  Fourteenth Finance Commission

(4)  Fiscal Responsibih'ty and Budget Management Act

/@wmmmmwwwmmmm?
(1) Fdes (2) wfreTg 3) ToRM /(A')’ HERTSE

In which state the number of Primary Agricultural Credit Societies was highest at the end o
March 2020 ?

(1) Karnataka (2) Tamil Nadu ()  Gujarat (4) Maharashtra

m 2017-18 We RIS Walfyes yeger ﬁéﬁ JAqUH (FDI) 23.6% T ST B
(1) o (@ bt am
(3) foxes aiftr wre @R /@/ﬁ?‘ﬂw Nl

During 2017-18 Foreign Direct Investment (FDI) was highest 23 6 percent in sector in

India.
(1) Communication services (2)  Manufacturing sector
(3)  Real and Wholesale trade (4)  Financial services

R o e
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@@ﬁaﬁﬁwﬁﬁﬂﬂm@:
@ B T ST B ﬁ'a(ﬁm)fﬁmwﬁﬁwmwﬁ’?
/ (b) ﬁmmmwmm}

et PR/ R/ A(@) s

(1) P (a) ST (b) AT S () wa (a) @ () A7d ST

(3) & (b) ST () A Jeq (4)~Térerirep) &S AT AT

Consider the following statements :

(a) The Deposit Insurance and Credit Guarantee Corporatlon (Amendment) Act, passed by the
Parliament in 2021.

(b) The deposit insurance premium is recovered from the depositors.

(c) The deposit insurance premium is compulsory for all insured banks.

Which of the statement/s given above is/are correct ?

(1) Only (a) and (b) are correct (2) Only (a) and (c) are correct
(3) Only (b) and (c) are correct (4)  All of the above are correct

fmmmm
(/&férf%rcﬁmﬁv‘ﬁ

(4) enfe T SHIOT

measures of Reserve Bank of India ?

(3) @ I g
Which of the following is not a quantitative moneta
1) Bank Rate (2) Moral Suasion

(

(3) Cash Reserve Ratio @ Statutory Liquidity Ratio
'Am,mmwﬁmmﬁm et & WS T Yebey HUT] TEaE AT

SHRUITT 3Tt ? N

EGAREEILEAINR]
(3) e duais Ao (4) el dEArdD A
steel plants in the public sector were built up at Rourkela,

During which five year plan three major st
Bhilai and Durgapur ?

(1)  First Five Year Plan
(3)  Third Five Year Plan

(2)  Second Five Year Plan
(4) Fourth Five Year Plan

FT FTEEIS AT / SPACE FOR ROUGH WORK PT.O.
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L/Q/@Wﬁa faem faemrd &l . %

(a) ol mrfor RoEIR AN (SGRY) ey 2007 S001 FEN G& PXAT g T I

(b)  WErHT e G AT ISR A ATl (M(JNRE(JS) pgardl = o

(c) &G R AT (NRY) BSIECEEN 1089 wedr TrAToT TET ‘Fﬂ;@‘“é' e

I} Reeteur Rur/Remie B ﬁm/ﬁ?ﬁ/wﬁa? @

a
SUN RS (2) (b) ®a @da@wE (3
Consider the following statements :
01.
launched September 20
SGRY) was lau T eme (MGNREGS) wae

(a) Sampoorna Grameen Rozgar Yojana (
Mahatma Gandhi National Rural Employment Guarante

(b)
introduced in February 2006. . it of th
e
The Nehru Rozgar Yojana (NRY) was launched in October 1989 for the ben

e rura

(©)

poor.
Which of the following statement/s given above is/are correct 74 3
(1) (a) only 2)  (b) only (3) (a)and (b)only () @ and () oY

@ﬁﬂaﬁaﬁmwaﬁmmmﬁ.ﬂﬁa
,‘/(2/@ ® =G (4)‘

\

(1)
Which of the following substance has the highest thermal conductivity ?
— .

(1) Wood (2) Aluminium (3) Glass (4) Silver

BTSN AR JPHI S Jagl ?ﬂ?ﬁ qe . .

(1) ) s 2) giu= b«s{ & (4) HIAT

Light enters the eye through thin membrane called the :

(1) Iris (2) Pupil (3) Retina (4) Cornea
//qﬁw#rm@ﬁa‘r mwﬁmmaﬁ%mmw“m_

(1) 17 #rexqer &9 S (2) 17 MexvEn WG fhar 17 Hex

(3) 7 Wrexuen Al /(A—)/ D] PO ATEY

Echo is heard if the distance between the source of sound and the obstacle is
(2) More than or equal to 17 meters

(1)  Less than 17 meters
(4) None of the above

(3) Less than 7 meters

oAl FMEIA AT / SPACE FOR ROUGH WORK
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//‘ Als
: ) AL ST ay W
. R Jy
(2) ST XL Bavwey gy —— N AR e dr P
AUy Rl i ; \ » .
g T goygaty + o
) TP s, LR R G D &,

§ ?Tl (FP':F&\( WW&
Sifeqifi

i XL g - —
Choose the Incorrect angyye,. . e e

éT ATET 297

(4) G*’ 1T*, 8*7 3@1‘@: %E‘F?[

Tegion in bonding molecular orbital is very low

(3) Energy of the ap

: tibondin
orbitals. & Molecular orbital is higher than that of the combining atomic

(4) Antibonding Molecular orbjta]s are represented by o*, 7*, 8%, etc.

/B-///——W Wﬁww,ﬁﬁmww@h/zﬂmm Jfawa oS TR
o
In

S
SENE (2)  Sreeq (3) R (4) Al
— model of an atom, the angular momentum (mvr) of an electron is an integral multiple
of the quantity h/ 2.
(1) Rutherford’s (2) Dalton’s (3) Bohr's (4) Fermi's

%WWWWWWW@QW?

() NO3 ¥ NHj 7&& @ N, NHI "

/@3/ NH} ¥ NO; a&d (4) NO; YN,w&d

During biological nitrogen fixation, nitrifying bacteria convert

2) N,to NH
(1)  NOj to NHj 2) Ny A

= 4) NOj toN,
(3) NHj to NO3 (4)

¥ TR F / SPACE FOR ROUGH WORK



m BYJU'S

WWW.byjusexamprep.com EXAM PREP

B)  SrRfb, e BRIGTCET, $fhRT

(&) TEw, o, e, wrafvec

Which one of the foHowing is the correct sequence of larval stages of Aurelia ?
(1) Planula, Hydratuba, Scyphistoma, Ephyra

2 P lanula, Ephyra, Scyphistoma, Hydratuba

(3)  Scyphistoma, Planula, Hydratuba, Ephyra

(4) Hydratuba, Ephyra, Planula, Scyphistoma

T T/ st g {FevEy) wh e

@ T, g i e
) T, e, S ot ciem

(©) @, T, W sty o

(d) Heriex, m,—av-ma afoy ag@s q

T et - B ¢

1) w () (2 ) 9ifn (o
(3) ®ad (c) 3mfor (d) 4) et wd

Which of the following is/are group, groups of reptilian animals ?

(a) Lizard, Snake, Frog and Loris
(b)  Turtle, Gharial, Caiman and Tuatara

(c)  Turtle, Crocodile, Salamander and Lizard
(d) Salamander, Catotes, Turtle and Frog
Answer Options :

(1) Only (b) (2)
(3) Only (c) & (d) (4)

Only (b) & (c)
All of the above

<A1 FETATE AT / SPACE FOR ROUGH WORK
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;//mﬁa SISRUR: GEIR

(a) 'qTHQF{ j AN

(1’) qrair ATl

(i) fRevetfars

(i)  afsr |y

© TR IRAC L \ Gi y
i) gvetfras
(@ S e, ) ot
) S
@@ ®d (9 ()
L@ @ 6 @
@ @) @) @) )
@) O G Gv) (i),
@ @ 6 G G
Match the following :
(a) Python molurus (i) Haemotoxic
(b) Naja naja (i) Blind snake
(c) Viper russelli (i) Neurotoxic
(d) Typhlops braminus (iv) Non-poisonous

Answer Options :
@ (®) () (@

1) (Gv) (@) @ @)
(2) @) Gv) @ @
@) G G @Gv) ()
4) @) @ @ @)

2075 e & Sud) od, @ TR B e Hred ?
AN dfasireH @) fr=rd (3) wiaswTEe 4) frent=y
Plants whose seeds are naked, are classified in which group ?

(1) Angiosperms (2) Gymnosperms (3) Tracheophyta (4) Cryptogamms

T FIHRTS AR / SPACE FOR ROUGH WORK PT.O.
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(1)  vERy wfd=yg aRar Jurd
(2) TEEn g Jur

How the occurrence of Endemic pest is defined ?

(1)  Occurs frequently in months

(2)  Occurs in few localities

—~~

L

Occurs in the same area year after year

)
(4)  Occurs in an area in severe form

/@WWWWWWMWW:

(a) Eﬁﬁwmﬁwaﬁaﬁf

(b) T AT Geams

(c) U= ﬁa&"l’”’l‘l’ﬁ‘é

(d) SIfFiIde aRien Seme o

TSB! BT faem/Rem aey o /amea?

(1) (a) B (2)  (a) ST (b) oot
(3) (), (b) SN (o) T A @ s (@) wa
Irrigation in the fields of saline tract affects the productivity of crops because of -
(a) Degradation of soil structure

(b)  Growth inhibition of plants

(c)  Leaf discolouration

(d) Salt accumulation in soil

Which of the given above statement/statements is/are correct ?
(1) (a) only (2) (a)and (b) only
(3) (a), (b) and (c) only (4)  (a) and (d) only

=41 FHIETE AT / SPACE FOR ROUGH WORK
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GreNey@! HYorar fawy : ’ o R
U] U1 f’l‘f(‘ﬂd) ERIRAI ST T e I8 fpar apfaa <iffe d99 b
W TEYA ? - —

\/«6 ST fawrog (2) e amy 3) fferém o (4) Roemds a

From the following viruses, which one transfers from one person to other via infected needles or
unprotected sex ?

(1) Dengue virus (2) Rota virus (3) Hepatitis A (4) Hepatitis B

%ﬁmmw@mv
/aﬁﬁam

(3) RS fHxom (@) <feas R

Which of the following is used to disinfect surfaces ?
(1) Ultraviolet light (2) Autoclave

(3) Infrared light (4) Sodium Carbonate

’

/ﬁwmﬁﬁﬁmmﬁam?

/er( g IER (2) TSAS WR
(3) SmTEEIeY TRl (4) A e
Which scientist discovered small pox vaccine ?
(1) Louis Pasteur ' (2) Edward Jenner

(3) Alexander Flaming (4) Selman Waksman

FS1 FTEEE ARN / SPACE FOR ROUGH WORK
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(2) rﬁaﬁg@aa?(ﬁ)a@av
(3) TEaF (i) anfr (id) Qe SRR
g‘?lﬁ?ﬁ(i)aﬂﬁ(ﬁ)aﬁ%”ra?‘lﬁ?m@ﬁ

ct from the give given on the cigarette

(4)
Find out which assumption is corre n statem‘en.t. o
Statement : ‘Cigarette smoking is injurious to Health’, this information
packet, because, |
People read the information given on the cigarette : ot
ly the warning given o1 cigarette packet

Assumption : (i)
(i) Many people take serious

packet.

Answer Options :
(1) Only (i) assumption is correct

(2) Only (ii) assumption is correct
Both (i) and (ii) assumptions are correct

(3)
(4) Both (i) and (ii) assumptions are not correct
el AT T 48 Targ, fpbe Fodr. o) 12 WIg
Fa<Sl A fipbe Wad Arerd 7

87. WW TR, T 36 WS,
B Wad Iadle X fFd Tah Walg
4) 5%

FHgsel g 1o
(2) 15% (3) 10%
f which 36 play Kabaddi and 48 play Cricket. If 12 players play

(1) 20%
There are 80 players in a club, o
is the percentage of players who do not play either Kabaddi or

both Kabaddi and Cricket, what 1
Cricket ?
(1) 20% (2) 15% (3) 10% 4) 5%

SIS S U @) Seiadid Wiardr e Hord $E. S Wil 3R 50 Wex 3 nfdr @1

.
SIS 7 e 40 fEA eE ) 5601 Wig AISTURNTS! fahedl e AT ?

(1) 7d4 (2)
Travelling in a train, a person is counting the number of electric
; % oles. T i
two poles is 50 metres and the speed of the train is 40 km/ hour.%hen h?\if tzfatmcﬁ OERRes e
ny hours will the

person require to count 5601 poles ?
3 2
(3) hours 4) 3 hours

(1) 7 hours (2) 6 hours

T STHTETS! AT / SPACE FOR ROUGH WORK
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/,4?‘?- A,B,C,D,Eﬁz_ﬂ:meﬁawm. BRI F anfor D= weh 9w e, E# A e C = wel S
W'A*EF, D.Wm‘ﬁmﬁcal)wrwmqam. F gl YT ATESN He I 3T 7
P— ﬂ_

1 B 3T D (2) Banfor A (3) B anfor E /(A-)/Bmfmp
Six students A, B, C, D, E and F are standing a row. B is between F and D. E is between A and C.

A doe§ not gtand next to either F or D. C does not stand next to D. F is between which of the
following pair of students ?

(1) Band D (2) Band A (3) Band E (4) Band C
N -
. C 4= Az R
90. DI NbfD %%%_lg_gqﬂ STOPBLUE = 10 7% WHITE = ?
(1) 13 2 15 1Y H® 17 (4) 19
In a code language, RED = 9 and BLUE =0. Then WHITE = ?
1) 13 @) 15 3) 17 4 19

91. ffe Yo e wart Yl s gl g S 3.

mﬁwﬁw=8500mmws,MmLaﬁﬁ@mmmM?
(1) 1521 (2) 1641 (3) 1672 (4) 1651
The percentage distribution of passengers in different trains are shown in the following pie-chart.

20%
Train M Train Q
19%

24%
Train S

&
<o

Total number of passengers = 8500. What is the average number of passengers in Trains S, M and
L together ?
(1) 1521 (2) 1641 (3) 1672 4) 1651
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(ii) qﬁﬁmmmmmqw\ﬂﬁ/% ";ﬂ ,
(i) IR e TR SrerTas AR, g

TR S \/

(1) &9 Ram (i) anfdy (ii) SRR 3R

(2)  ®FT fRum (i) enfr (i) SRR ami

y fa8m (ii) enfor (iti) sxr” smed
Fem (i), (i) ST (iti) SRYER amia

Mango tree is in the middle of Gauva and Lemon tree. Papaya tree is near the %irm:f; fl;EEL but
near the Mango tree and Gauva tree. At the right side of Papaya tree 15 Coconut tree but at the |

side of Gauva tree no any tree.
Which statement/s of following is/are correct ?
(i) Lemon tree is between the Papaya and Mango tree.

(i) Papaya tree is between Coconut and Lemon tree.

A

o G 6V

(iii) Papaya tree is near Coconut tree.
Answer Options :

(1) Only (i) and (ii) statements are correct
(2) Only (i) and (iii) statements are correct
(3) Only (ii) and (iii) statements are correct
(4) (i), (ii) and (iii) all statements are correct

/{ SR TSIl 31&R, A d M AL &@WlﬁlBWmaﬂﬁaaﬂﬁamNs@aﬁam
' afor O & Z Aefer aa%aaﬂ—lﬁ—lzqﬂﬁsmﬁaa?SUCCESSWﬁwmw%ﬁﬁmﬁﬁ

e ?

/ﬂ =] By 11 (3) 16 4) 20

If the letters in the English alphabets, A to M represent number from 1 to 13 respectively and N
represent zero and the letters O to Z correspond from —1to — 12, what will be sum of intégefS for

SUCCESS ?
(3) 16 @) 20

M -11 @) 11
— T o o .
arv%’la.'(rinm& /sgceg)kaé%uelf‘wo& PR ‘9\(\ W

R 2 = T N-go " 1R46-5
‘ ‘ \
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os, T AN N Tadvan feneaten A, B, C, D AR qaE ke, @ R T TEe i

e e Fee guifden e,

FE-A | 8B | grd-C | FE-D
R NICH SIMBERID 24 25 5 | 17 |
FEATE TG S Wy aiffe we sl frensf | 14 13 18 ) 18 |
R WIa St g aiffe e sl fend 8 17 11 ‘ 15 |
I e Sl fene 64 55 % | 70 |

T e TEd P qEer T AT T o S

(1) B @ A 3) D

(4)

C

A school has four divisions A, B, C and D of ninth standard students. The results of half-yearly
and annual examinations are shown in table given below.

No. of students
Result
Section A|Section B|Section C|Section D
students failed in both examinations 24 25 13 17
students failed in half-yearly but passed in annual exams| 14 o) 18 18
students passed in half-yearly but failed in annual exams| 8 17 11 15
students passed in both examinations 64 55 46 70

Which division has the maximum passing rate in the annual examinations ?

(1) B 2 A @y B

(4)

c
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)

Q A N\ \ ) -
) \Q,

N o
= —
A /:)::\ ) 112
i .
(1) 116 @‘/ (2) 111 (3) 114 (

What will be the number at the place of question mark ?

(]
CINAE
79 |
18 45 20

1) 116

2) 111 (3) 114 4) 112

96.

A a1fo7 B UF P UHHIAQUl 15 feawrd gof XA B Udhel 9 B 20 feawrd qul dRel T AT
g oW fed feaaa gf #Xe?

(1) 60 2) 45

If A and B together can complete a piece of work in 15 days and B alone in 20 days. In how man

(3) 40 4) 30

days can A alone complete the work ?

(1) 60 (2) 45 (3) 40 @) 30
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97. 250 M AN e
I AR ? AN 45 5 . Ay, qv 250 @ Al efewld SrersTaTEel
1 36 W
a (2) 40 Vb (3) 50 #ha
(4) 45 HF3

e 1 ) M
A train 250 metres long running,
)

) ﬂl a spee {4
length 250 metres ? peed 45 km/hr, how long does it take to pass a platform of
g | ¢ > ) )

(1) 36 Seconds
(2) 40 Seconds (3) 50 Seconds (4) 45 Seconds

98. TP HIUH Huged gUaTen 4 fFE ufy
aRT AT AT Ay onfT 6 R
TR FATEE IR A K 6 R Sl I S RS . S

(1) 48f®
a2 5 /e @) 42fpRaE (4) 5.6 fFH/AE

A m :

. kma/ILrgci/e\zli to .Mu‘mbal from Pune at a speed of 4 km/hr and returns to Pune at a speed of
L at is his average speed of the entire journey ? L |

(1) 4.8 km/hr (2) 5 km/hr (3) 4.2 km/hr (4) 5.6 km/hr

99. agEH 19 97 weher afife wward TR el
(1) 47 - (2 37 (3) 48 4) 49
Find the average of natural numbers between 1 to 97.

(1) 47 (2) 37 (3) 48 (4) 49

100.@%@%@&@6%%%@%. SCIRG AN IIERS 59 Qe Toreren fidel. SR e
@%ﬁ%ﬂamzommwﬁwﬁmﬁﬁ?

(1) ®9 2000 2) w9 2011 (3) WYd 2020 (4)  wT¥ 1900

profit of 6% who in turn sold that to Gopal at a loss of 5%.

Ravi sold an article to Sudhir at a
find the cost price of the article for Ravi

Gopal paid Rs. 2014 for the article,

(1) Rs. 2000 (2) Rs. 2011 (3) Rs. 2020 (4) Rs. 1900

—

- —
N,

(et ok
-000- ™ ‘
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